Chapter 10

Case Study:  The Challenges of Integrating Steel Giants Arcelor and Mittal

1. Why is it important to establish both top-down and bottoms-up estimates of synergy? 
Answer: The top-down estimate comes from senior management and is intended to set expectations or “stretch” goals. The “bottoms-up estimate comes from those most familiar with the operations and tests the feasibility of realizing these estimates. Also, the individuals in the operations must also have some degree of confidence in these estimates as they will be responsible for implementing the plans. 
2. How did ArcelorMittal attempt to bridge cultural differences during the integration? Be specific.
Answer: The management integration team (MIT) and supporting task forces were staffed with people from both organizations to infuse the activity with cross-organizational thinking, to achieve better cooperation, and to establish best practices. 
3. Why are communication plans so important?  What methods did ArcelorMittal employ to achieve these objectives? Be specific. 
Answer: Clear, consistent, and substantive plans are important to allay fears among those within the two organizations as well as other stakeholders such as customers, communities, suppliers and shareholders. The new firm sent top managers on a “road show” immediately following closing to assuage concerns among employees and customers. The firm also employed a media day to communicate to communities through the press.
4. Comment on ArcelorMittal management’s belief that the cultural diversity within the combined firms was an advantage. Be specific.

Answer: Different ideas about what constitutes “best practices” forces internal debate which can result in significant innovation, cost reduction, and productivity improvement. Moreover, cultural differences can result in more effective marketing to customers within specific geographic areas since employees familiar with indigenous ways of doing business can better satisfy customer requirements. However, cultural differences also represent huge challenges in terms of communication and implementation of appropriate policies and practices. The “way things are done” must be tailored to meet the special needs of each culturally distinct group, adding significantly to costs, and increasing the likelihood of miscommunication.  

5.  The formal phase of the post-merger integration period was to be completed  

 within 6 months. Why do you believe that ArcelorMittal’s management was 
 eager to integrate rapidly the two businesses? Be specific. What integration 
 activities were to extend beyond the proposed 6 month integration period?
Answer: Rapid integration is important to earn back any premium.  The   sooner synergies can be realized, the greater their contribution to the net present value of the deal. Rapid integration also tends to shorten the time period during which employees, customers, and suppliers experience stress. By reducing stress and uncertainty, employee, customer and supplier attrition is likely to be less. Activities that are likely to continue indefinitely would 

include communication to the various stakeholder groups and efforts to forge a common corporate culture. 

